MISCELLANEOUS QUESTIONS

[SET - 41]

1. Find out the odd word/letters/number/number pair
from the given alternatives.

(a) Kuchipudi (b) Kathak (c) Bhangra (d) Pongal
2. Find out the odd word/letters/number/number pair
from the given alternatives.

(a) PE (b) MV (c) GP (d) DM

3. The age of Dr. Kar is four times the age of his son.
After 10 years, the age of Dr. Kar will be twice the
age of his son. The present age of Dr. Kar's son is:

(a) 4 years (b) 5years (c)6years (d)8years

4. From the given alternative words, select the word
which cannot be formed using the letters of the given
word:

INTELLIGENCFE

(a) CANCEL (b) NEGLECT (c) GENTLE (d) INCITE

5.1f Cis coded 3, DASH is coded as 32, then DANCE
will be coded as

(a) 20 (b) 25 (c) 26 (d) 27

6. Soumitra walked 8 m towards the north. He turned
to his right and walked 16 m, then he turned to his
left and walked 5 m and again he turned to his left
and walked 16 m . In which direction is he from his
starting point?

(a) South (b) East (c) North (d) West
7. Identify the diagram that best represents the
relationship among classes given below:

Rose, Marigold and Flowers

(a)/aN (b)/é\ A
AR A AN

8. If a mirror is placed on the line MN, then which of
the answer figures is the right image of the given
figure?

X
27 7 7 7 7 73

(a) (b)

() (d)

9. Select the odd word/letters/number/number pair
from the given alternatives.

(@)1/2 (b) 1/3 (c)1/4 (d)1/5

10. Select the odd word/letters/number/number pair
from the given alternatives.

(a) 897 (b) 969 (c) 888 (d) 432
11. Food is related to Hunger in the same way as
Medicine is related to:

(a) Disease  (b) Miracle (c) Growth / (d) Drought

12. If 'star' is called 'water', ‘water’ is called ‘tree’, ‘tree’
is called ‘sky’, ‘sky’ is called ‘earth’. On which of the
following birds fly?

(a) Water (b) Star (c) Sky (d) Earth

13. If P denotes +, Q denotes -, R denotes '+, and S
denotes x,then: 15S24R12Q5P8="7

(@) 115 (b) 33 (c) 55 (d) 45

14. If HOME is coded as IONE, DONE is coded as
EOOE and CORD is coded as DOSE, how would you
code SOLD?
(@) TPOT  (b) TONE

(c) TOMS  (d) TOME



15. 5,8,12,17,23,7

(a) 30 (b)72  (c) 65 (d) 48

Directions (16-20) : In each of the following questions,
two or three statements followed by two Conclusions
numbered | and Il have been given. You have to take
the given Statements to be true even if they seem to
be at variance from the commonly known facts and
then decide which of the given Conclusions logically
follow from the given statements disregarding
commonly known facts.

Give answer

(a) if both the Conclusion | and Conclusion Il follow
(b) if either Conclusion | or Conclusion Il follows

(c) if neither Conclusion | nor Conclusion Il follows
(d) if only Conclusion | follows

(e) if only Conclusion Il follows

(16-17) : Statements : All calls are mails.
Some mails are posts.
Some posts are letters.

16. Conclusions : I. All posts being calls is a
possibility.
Il. No letter is a mail.

17. Conclusions : I. All mails are calls.
[I. No call is a letter.

18. Statements : Some vehicles are cars.
Some cars are trucks.
All trucks are trains.

Conclusions : I. All vehicles being trains is a
possibility.
Il. At least some cars are trains.

19. Statements : Some bridges are roads.
No road is underpass.

Conclusions : I. Some bridges are underpasses.
Il. No bridge is an underpass.

20. Statements : No unit is a part.
All parts are items.
Some items are elements.

Conclusions : I. No unit is an element.
[l. Some units being items is a
possibility.

Directions (21-25) : Study the following information
carefully and answer the questions given below :

Seven persons namely B, C, D, E, F, G and H have to
attend a workshop but not necessarily in the same
order, in seven different (months of the same year)
namely January, March, April, July, August,
September and December. Each of them also likes a
different company namely HTC, Nokia, Samsung,
Blackberry, TCS, Infosys and Godrej but not
necessarily in the same order. The one who likes TCS
will attend a workshop in the month which has less
than 31 days. Only one person will attend a workshop
between the one who likes TCS and B. The one who
likes HTC will attend a workshop immediately before
B. Only three persons will attend a workshop between
the one who likes

TCS and the one who likes Nokia. H will attend a
workshop immediately after B. Only three persons
will attend a workshop between H and G. The one
who likes Infosys will attend a workshop immediately
before G. The one who likes Samsung will attend a
workshop immediately before the one who likes
Godrej. E will attend a workshop immediately after
the one who likes Godrej. C will attend a workshop in
a month which has only 30 days. F does not like HTC.

21. How many persons will attend a workshop
between the months in which G and D will attend a
workshop ?

(@) Two (b) Three (c)One (d) More than three
22. As per the given arrangement, G is related to HTC
and B is related to Nokia following a certain pattern,
which of the following is D related to following the
same pattern ?
(a) Samsung (b) Infosys (c)HTC (d) Godrej

23. Which of the following represents the month in
which F will attend a workshop ?

(a) March (b) January (c) December (d) April
24. Which of the following represents the persons
who will attend a workshop in March and December
respectively ?

(@ GE (b)FB

() F E (d)F,H

25. Which of the following companies does G like?

(@) Samsung (b) HTC (c) TCS (d) Blackberry



